ASSEMBLY INSTRUCTIONS

COAT HOOKS

REPLACEMENT PARTS

Please do not contact the company purchased from as we can help you faster.

Order replacement parts and hardware at"boltonfurniture.com”

A

. Use of power tool to assemble
this product will invalidate any
claim and damage this product
making it unsafe!!!

. Please assemble on a clean soft
surface to avoid damage.

TT

16

30 minutes

Tool Required

"
=1

(Not included)

www.boltonfurniture.com

Pagel

Coat Hooks 2019/11/17




Part List- Coat Hooks

Identifying the hardware-Identify the hardware using the illustrations below.

e 4 N 4 N
(f\) DI (A> D)
E ) 02| | F g 04 |G 3 02
M6x60MM BOLT M6x30MM BOLT
N\ J N\ J
4 4 N e N
(v Prrsrrrrrennne
H 04 | 08 J 02
3x15MM SCREW 4x60MM SCREW
N § 4 L %
e §§? , N 4 N 4 N
K 02 L 04 M 01
| DRYWALL EZ ANCHOR . 10x40MMDOWEL ~ | [ )

www.boltonfurniture.com

Page2 Coat Hooks 2019/11/17




0)

M6x60MM BOLT

I

E

10x40MM DOWEL

Mmoo o

@ um«(((t««««a

STEP 2

G (6 umm

mexzomm BoLT 04

[M P, o

STEP 3

~
H 04
N J
e 7
|
3x15MM SCREW 08/
k7
€'H
L (Not included) )

Coat Hooks 2019/11/17




551-EEF> “ KJ P 0 ‘ ﬁD:;;FEEES
4x60MM SCREW DRYWALL EZ ANCHOR (Not included)
/\ Wallboard
WALL
3/8"

//@%?% AAR WY /MT\HF
J

If you are not able to secure Screw(J) to studs in wall, use the EZ anchor (K) provided.Mark
location on wall where EZ Anchor(K) is to be. Install EZ anchor (K) by taping in up the
thread, and screwing them securly into the dry wall. Secure Screws(J) into EZ Anchor (K).
NOTE: DO NOT DRIVE SCREW ALL THE WAY IN, HAVE HEAD OF SCREW OUT ABOUT 3/8”

Drywall % 3/8D wall

www.boltonfurniture.com

Page4 Coat Hooks 2019/11/17



